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Abstract In order to evaluate whether the reliability of repairable cooperatively-manufactured-wheel-loader-parts
(CMWL P) meets the need of loader. According to reliability relation between the CMWLP and loader, relative failure
rate was defined as the evaluation index The new evaluation method was brought forward in this paper. The relative
failure rate W; between evaluated CMWLP and similar advanced loader was gplied to evaluate whether the CMWL P
reliability level met the need o loader. On the basis o the failure data o .50 loader and the CMWLP o two
enterprises during warranty period. By applying the random process theory, the required failure rate A; (t) of the
CMWL P was calculated in the case o available loader reliability. Reliability prediction valueX; (t) (available reliability
level) of the CMWL P was compared withA; (t) . Using the aforementioned evaluation method, reliability conditions of
the 2.50 CMWL P (engines) o two enterprises was evaluated and analyzed in the paper. The results showed that this
new evaluation method was simple, easy correct, very applicable, and had a relative failure rate.
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Table 1 Failure rate resultsof applying estimated failure

rate to caculateA (t)

Xs(1000)/  A{(1000)/ X ;(1000)/
104 104 104 R
A 54. 68 13.02 16.01 - 22.96
B 26. 86 6.40 5.90 7.81
1 , A
X (1 000) Ai(1000)
R - 22.96%, A
B
X (1 000) Ai(1000)
R 7.81%, B
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